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1. Fencer X makes a step-forward-lunge with a head cut. Fencer Y makes a counter attack.

The apparatus registers only Y’s hit and the referee notes that mask wire is disconnected. What

should the referee do?
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t.99.1

The Referee must take into account any possible malfunctions in the electrical equipment; in particular

he must annul a hit he has just awarded in accordance with a signal from the apparatus if it can be

established, by tests carried out under his attentive supervision, before the bout has effectively re-started
and with no changes having been made to the equipment (cf. t.47.2.d):

- that a hit made by the fencer judged to have been hit does not cause the apparatus to register;
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2. Fencer X establishes a point in line before the start of Y’s double step-forward-lunge attack.
Both fencers hit with the cutting edge of the blade. What should the referee do?
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t.104.4
The fencer who attacks is alone counted as hit:
a) If he initiated his attack when his opponent had his point ‘in line’ (cf. t.15), without deflecting the
opponent’s weapon. Referees must ensure that a mere contact of the blades is not considered as
sufficient to deflect the opponent’s blade.

3. A left-handed fencer arrives on the piste with a conductive jacket for right-handed fencer.
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t.71
If a fencer appears on the piste:
- with clothing which does not conform with the Rules;
the Referee will apply the penalties stipulated in Articles t.158-162, t.165, t.170.
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4. Fencer X attacks and hits Fencer Y with the guard. Fencer Y makes a counter attack. Both

actions land valid. What should the referee do?
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t.96.3

It is forbidden to hit with the guard. Any hits registered by hitting with the guard must be

annulled, the fencer so hitting being penalised as specified in Articles t.158-163, t.165, t.170.
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5. Fencer X and Fencer Y make simultaneous attacks, Fencer X finishes attack with guard on
the mask of fencer Y.
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t.96.3
It is forbidden to hit with the guard. Any hits registered by hitting with the guard must be
annulled, the fencer so hitting being penalised as specified in Articles t.158-163, t.165, t.170.
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6. Immediately after the command “ Allez!” is given, Fencer X makes a step-lunge attack and
Fencer Y establishes a point in line. Both actions land valid. What should the referee do?
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7. Both fencers are sanctioned with a yellow card. Fencer X is leading 4:3 and makes a fleche
attack with crossing the legs. Fencer Y makes a counter attack. Both actions land valid. What
should the referee do?

SSl,sS SO Y s o plasl 28 S gm0 00 sl b gl sl i FiY A G L X il onds deyy> 0,5 SIS Sl iads 90 0 Y

a5 4z ol jglo Kigd (oo (st ytxe dypd 4 S8 > 90 p0 .S (oo
t.101.5
The fleche and any forward movement in which the rear foot completely passes the front foot is
forbidden. Any offence will be penalised as specified for penalties in the 1st group (cf. t.158- 162,
t.165, t.170). Any hit scored by the fencer at fault will be annulled. However, any hit correctly executed
by his opponent is valid.
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8.The maximum length of the sabre blade is:
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m.21
The total maximum length of the sabre is 105 cm (cf m.3).
m.23.1
The blade, which must be of steel, is approximately rectangular in section. The maximum
length of the blade is 88 cm. The minimum width of the blade, which must be at the button, is
4 mm; its minimum thickness, also measured immediately below the button, must be at least
1.2 mm.
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9. The deflection of the sabre blade must be:

m.23.1

If the blade has a curve, it must be a distinct curve which must be continuous, and the deflection
must be less than 4 cm. Blades with sharply bent extremities or which curve in the direction of
the cutting edge are forbidden.

Max 4 cm
F |
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10. The mask wire:
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m.32.4
The electrical contact between the conductive jacket and the mask must be ensured by means of a white
coloured or clear covered wire with two crocodile clips. The wire must be attached to the mask with one
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crocodile clip and to the jacket with another crocodile clip. This wire must be between 30cm and 40cm
long. A coiled mask wire is not allowed.
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11. Fencer X makes a beat attack, on the beat Fencer Y weapon drops to the piste, attack of

X arrives on the valid surface. The referee should:
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m.23.5
The order ‘Halt!’ is also given if the play of the competitors is dangerous, confused, or
contrary to the Rules, if one of the competitors is disarmed or steps off the piste (cf. t.33,
t.58).
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12. With no penalties given in the bout, Fencer X makes a fleche-attack (crossing the feet) and
scores a hit. While retreating, Fencer Y makes a counter attack and scores a hit. Apparatus
fixes both red and green lamps. The referee should:
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t.101.5

The fleche and any forward movement in which the rear foot completely passes the front foot is
forbidden. Any offence will be penalised as specified for penalties in the 1st group (cf. t.158- 162,
t.165, t.170). Any hit scored by the fencer at fault will be annulled. However, any hit correctly executed
by his opponent is valid.
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13. What feature should the Referee check about the sabre fencer’s conductive jacket?

t.97.1
The target comprises any part of the body above a horizontal line drawn between the top of the
hip bones and then horizontally round the fencer’s trunk (see Figure 6).
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14. Fencer X drops the weapon after Fencer Y executed a parry. Y immediate riposte with a
valid hit. The referee should:
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15. The reprise of the attack is...
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t.13.3
The reprise of the attack
A new attack executed immediately after a return to the on-guard position.
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16. Fencer X has a YELLOW CARD. During a halt, Fencer X’s weapon is found not to conform
to the Rules with a fault that could have been caused during the fencing. The referee should...
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t.72
When during a bout an irregularity is found in the equipment which could be caused by conditions
during the bout:
Examples:
- conductive jacket with holes in which hits are registered as non-valid,
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- weapon or bodywire no longer functioning,
- pressure of the spring in the point too weak,
- the travel in the point no longer regulation,

the Referee will apply neither warning nor penalty and any hit scored with the equipment
which has become defective will be awarded.
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17. Before the command “Allez” is given, Fencer X establishes a line. What should the Referee
do?
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t.22.12
At foil and sabre fencers may not come on guard in the ‘in line’ position.
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18. Fencer X makes an attack that clearly registers a valid hit as X’s cut arrives on the guard
of Fencer Y. Upon examination it is found that Y has a non-insulated pommel nut. What should
the Referee do?
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t.99.2
If the sabre of the fencer judged to have been hit does not conform with Article m.24.6-8
(insulation of the interior and exterior of the guard, of the handle and of the pommel), there
will be no annulment, even if a hit on the weapon causes a signal to register.
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19. The metallic fabric covering the conductive gauntlet must be folded to the inside of the cuff
to a depth of at least...
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m.33.2
The conductive material must be turned over into the inside of the gauntlet to a depth of at
least 5 cm.
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20. Fencer X comes on guard with hair in a ponytail resting on the lame on the back. What
should the Referee do
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t.115.2

Before the start of the bout, the fencers' hair must be fastened and placed inside the clothing and/or
mask in such a way as to ensure that: - it does not cover a valid surface (and thus prevent a hit from
being scored).

- it does not conceal the name and nationality of the fencer.

- it does not need to be put back in place during the bout, thus interrupting it.

In the case of violation of this rule, the referee will apply the penalties for group 1 offences (t.158- 162,
t.165, t.170).
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21. With no penalties given in the bout, Fencer X makes a cross step. While retreating, Fencer
Y makes a stop-cut. Neither of these actions lands. Both fencers immediately remise their
actions; the remises land at the same time. What should the Referee do?
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t.101.5
The fleche and any forward movement in which the rear foot completely passes the front foot is
forbidden. Any offence will be penalised as specified for penalties in the 1st group (cf. t.158- 162,
t.165, t.170). Any hit scored by the fencer at fault will be annulled. However, any hit correctly executed
by his opponent is valid.
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22. Both fencers start attacks to the same time. Fencers Y with a forward step attempts to find
Fencer X's blade but fails. Both fencers hit at the same time on valid target. What should the
Referee do?
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t.106.4.b
The fencer who attacks is alone counted as hit:
b. If he attempts to find the blade, does not succeed (because of a derobement) and continues
the attack.
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23. Fencer X reports to the piste with a conductive gauntlet that has no provision, such as
elastic, to ensure good contact with the sleeve of the lame. What should the Referee do?
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m.33.2
In order to guarantee a good contact with the sleeve of the conductive jacket, it is necessary
to use an elastic band, a popper button or any system which will guarantee conductivity and
which has been approved by the SEMI Committee. When a conductive overlay is worn, the
overlay must contain a device which fixes the position of the overlay on the arm so that its
position on the arm cannot be changed during the bout.
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24. When attack of the fencer has right if his opponent has his point in line?
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t.102.1
If the attack is initiated when the opponent has his point ‘in line’ (cf. t.15) the attacker must
first deflect his opponent’s weapon. Referees must ensure that a mere contact of the blades is
not considered as sufficient to deflect the opponent’s blade.

WS By |y Y g,y da Sl K iole
25. When substitution of another part of the body for the target area by covering will be
penalised?
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t.97.2
At sabre, it is forbidden to protect the target area or to substitute another part of the body for
the target area, by covering it (cf. t.158-162, t.165, t.170); any hit scored by the fencer at fault
is annulled.
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26. Fencer X after making a successful parry makes a momentary pause (delayed riposte) and
his opponent Y renews the attack. Both lights are on. What should be the outcome of referee?
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t.106.3.c
The fencer who is attacked is alone counted as hit:
If, after making a successful parry, he makes a momentary pause (delayed riposte) which
gives his opponent the right to renew the attack (redoublement, or remise or reprise);
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27. Fencer X establishes a point in line before Fencers Y started attack step-forward-lunge,
with a forward step Y tried to find Fencer X's blade but fails. Both fencers hit at the same time
on valid target. What should the Referee do?
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t.104.4
The fencer who attacks is alone counted as hit:
a) If he initiated his attack when his opponent had his point ‘in line’ (cf. t.15), without
deflecting the opponent’s weapon.
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28. Fencer X made an attack by beating on the forte of the opponent’s Y blade and both fencers
hit at the same time on the valid target.
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t.104.2
In an attack by beating on the blade, when the beat is made on the forte of the opponent’s
blade, i.e. the one-third of the blade nearest the guard, the attack is badly executed and the
beat gives the opponent the right to an immediate riposte.
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29. Immediately after “Allez!” Fencer X started attack and Fencer Y establish a point in line,
both hits landed valid, what should the Referee do?
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t.106.1

When during a phrase both fencers are hit simultaneously there is either a simultaneous action or a
double hit:

30. During his compound attack fencer X touches the blade of fencer Y, both hit at the same
time.
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t.29.1
The use of the non-sword hand and arm to carry out an offensive or defensive action is forbidden (cf
t.158-162, t.165, t.170). Should such an offence occur, the hit scored by the fencer at fault is annulled
and the latter will be penalized as specified for offences of the 2nd group (red card).
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